[This question paper contains 8 printed pages.]
2471 Your Roll No. ..............
LL.B./V Term | F
Paper LB-502 : JURISPRUDENCE - I
(Theory of Law)

Time : 3 Hours Maximum Marks : 100

(Write your Roll No. on the top immediately

on receipt of this question paper.)

Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.

Roqoft: - 39 ¥o7-97 &7 IR i o B=r fadt v s
& iy, T ot ST w7 AT v 8 B wiEv |

Attempt any Five questions.
All questions carry equal marks.
Answer the questions giving examples

from Indian Legal System.
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1. Explain Austin’s command theory and his Tacit

command theory

Are following laws/commands according to Austin :
(a) Customs in India

(b) Supreme Court of India declaring NJAC Act

unconstitutional.
(c) General Clauses Act
(d) An Act repealing the existing law. (20)
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N 2. (a) What are the esséntials of a society Independent

\\‘ ., . | . .
and Politiacl according to John Austin. What are

the different types do of societies in existence in
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the world? Can you locate a sovereign in India?
What is the impact of growth of institutions like

WTO on the theory of sovereignty of Austin?
(15)

(b) According to H.L.A. Hart, John Austin cénnot
explain continuity of sovereign specially when a
king dies in an Autocracy. Explain the reason as
to why Hart makes this observation with respect

to Austin. 5)
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3. (a) A Society having only primary Rules of obligation

suffers from certain defects. Explain how Hart

P.T.O.
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tries to remove those defects in a Legal system.
Use illustration from the India legal system,
wherever possible. , (10)

(b) According to Hart, Austin’s gunman theory is a
predictive theory as it does not explain the ‘idea
of obligation' embedded in the definition of “Rule”,
resulting in neglect of internal aspect of Rules
comment on the statement given above and clearly
bring out the differences between social habits

and social Rules as given by Hart. (10)
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4. The speluncean Explorer’s Case provides a window
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to look into tlage process of judicial decision making,
use any of the two below stated principles/doctrines
and show how the judges differed from each other
in either the reasonmg or the decision making while
decxdmg the fate of the “unfortunate” explorers in
w111fu11y” taking the life of Roger whetmore”. [The
facts of the speluncean Explorers case need not be
stated by the students].

: #

(a) Doctrine,of separation of Powers and the morahty

of legahsm

(b) Varying, Rilles of Interpretation.

(c) Judges of the Supreme Court are to prov.idejustice
to the people and not merely give a judgment
applyingé; the law of the land in a given situation.

(20)
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5. Elucidate the theory of “Balancing of Interests”, as
given by Roscoe Pound. Explain how his theory can/
cannot be used to answer conflicting ideologies in
relation to contemporary problem with a special focus
on problems of homosexuality, Reservation Policy in

India and Rape as a crime against a person. (20)
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6. What were the reasons for the growth of Historical
school of thught in Europe? Critically analyse the idea
of “Volksgeist” given by Karl Von sanigny. Do you
think his theory can be applicable 1n a multicultural
multilingual and pluralist democraéy(like India? (20)
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7. According to Hans Kelsen, the legal order is a social,
Coercive and a Normative order. Explain the above

statement.
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8. Write short notes on any two of the following:

(a) Critical analysis of ‘Presupposition of Basic Norm’

by H:ans; Kelsen

(b) Rule of Recognition and its legal validity in Hart’s

Concept of law.

(c) Henry Maine’s distinction between static and

Dynamlc Socwtles
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